Review 4 - Answers
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I (b) radial; (c) outward the origin; (d) |F||=k.

Il

3.(a) ¢)=£+C, CeR; (b) p=x’y+y?2’+2+C, CeR;(c)notconservative
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2.(a) F=k
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4. 2bz*\Ja?+b? 518 6.4 7. 4z 8.(a)gozx7(1+y2)+C,CeR,(b)—l

9.(@) Yes; (b) ¢=x’y+Yy’z+C, CeR (c) 0 10.(b) 2z; (c) No; (d) O

11. % 12. %(5\6—1)

13. (@) S:r(u,v)=(2cosu, 2sinu,v), where D={(u,v)|0<u<27z,0<v<I}
(b) dS=2dudv; (c) 87

14. 87 15. ab 16. 6—§5ﬂ 17. % 18. 2z 19. %T 20. -7
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21. (a) 27 (b) —2x (c) —2x; (d) Stokes’ 22. (a), (b), and (d) 23. (c) and (d)
24. True: (a), (d), (e); Not true in general: (c), (f), (h); Do not make sense: (b), (9)
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